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QUESTION 1

It is the use of the -Lflag in the snapmirror initialize command and the subsequent successful level 0 transfer that
causes the destination volume to become snaplocke?

A. True
B. False

Correct Answer: A

QUESTION 2

In cluster takeover mode, the shared interface assumes the identity of the:
A. local interface only

B. failed partner interface only

C. local and failed partner interfaces

D. None of the above

Correct Answer: C

QUESTION 3

Normally, before you split a SyncMirror volume, you ensure that both plexes are:
A. plexes, pools

B. online, operational

C. offline, operational

D. snapshots, contain the most recent snapshot

Correct Answer: B

QUESTION 4

Which SyncMirror command mirrors an existing unmirrored aggregate where Data ONTAP selects the disk drives?
A. aggr mirror aggrY

B. aggr mirror aggrY-m

C. aggr mirror aggrY-d 12@ 144
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D. aggr mirror aggrY-m 12@ 144

Correct Answer: A

QUESTION 5

The NearStore system is not the recommended secondary storage appliance for Open System SnapVault.
A. True

B. False

Correct Answer: B
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